2025%F2A228 () 1EIR#ETE SR

5R a5 A& : 560, 220, 140, 84, 56755 m’ °
= s = 21,7 ( ; MFISERAES 255 1 345 1 354 1 434 1 i }
YSRIZ KEBF [EE] BEH 132.2 L—R5y JHEE S 2 HUH 1 HSM 1 SNS i Grart 4
MR | PREK | EETES T i 35 E AR B) EhvvaviE BfE 27BE=L-2& LT 771 MTE=HIE M- BE - AK AN
B F | MBIMM LB £ro18%] B 2 2400n 2, 3. AABBIEN 5fTE=(EM - O1—X - BIBRE 4L EMNYSF
=) 26 | B & |@nEE/AE|H 4T | B 2 1800m #IF (HELN, NSy, S)EL\) BIH% 3 Fo(h EBRE 29-h~4f - 3B ~46 - #IF(G~1) LY 3 FIREL
EIEIE ARGRES WE | £ M | Z2008% (3w E& w3 00| L—REYSFAAL - UBROLYSFEAL > 0.5 OBERF HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE BAoX| B & | 1-3ABM| & BEFR| &S jeoon B WAE 33ERT 4R SR
PANVEEEE- 43 | 40 Z[ . [ ®Z200071 [ =m0.0.00 ft%ghgsﬂss 8.6 1/h@5 2#%.10 41 1.1 6m#B4
N e 3 .0.0. 0. ]
Y¥=>vL7—F 10.0.0 117 16mIGEIBA Aot |7 108 4% 61
11 Y=oy [ .0.0.1 462 0 )itk 52 B | 462 %) HwIF 55 DO
(FTRREEXAY) .0.0.0 1800m A # 1:51.2 36.7 | 2000m ¥B B 2:02.9 35.7
SR IS (AT (%] .0.0.2 MMS 35.9-36.6 154 (8) | MMM 37.5-34.8 313 (3)
i# = .0.0.0 e -0 ExEZE | 107 4/2(2.0) Sk
J7 AT A =L 3 0.1.0 25.02.09 9.0 Tm&EM4| 25.01.25 46 0.3 19 m8| 24.12.07 40 F Tm#ER3| 24.11.23 39 ¥ 6mah/ | 24.09.21 43 10.4 3m6
54 .0.0.0 KEFF SERBEF SR BRI FLRBFI HE
7 .0.0.2 B 135E12& TA k4| T 168814% 9N 4 9 1388 7&10A 9 1688 3%& 4N W 8 1458 2%& 8N W
2| A|TETFL—R B 0.0.0 444 +2 FRE 53 DO® | 442 -2 LA — 55 DOO | 444 -4 FEREE 55 D | 448 +8 FERE{E 55 G | 440 %) =HEBE 55 @GO
(TET7HRAT7) . .0.0.0 .0.0.0 | 2200m ZA #2:16.1 36.1 | 1600m #B £ 1:36.9 35.5 [ 1400m % B 1:29.6 38.6 [ 1400m # [ 1:28.8 38.7 | 1600m 2B £ 1:36.5 34.3
22 4405 (RASATHT) [£]] 0014 | 20011 |£2001.2 | -®-@----[HSS 35.2-36.4 424 (2) [ MMM 36.1-35.0 253 (4) | SSS 36.6-38.6 214 (4) | MSS 35.3-30.0 144 (3) | MMM 36.0-34.7 245 (3)
f-12HD 1405 05020580 | £470.0.0.2 | 158 00 1 1| dyd97-b3v(0.4)  EiBE -)-yvp(1.4) EHEE | e3/1ko-n(d.3) EEE [T a7 EEE [ 4 550.6) Fewksk
IEI7RA7 H3 |48 ©: : : : | R 0111 | =pH0.0.0.0 | 24.12.21 47 11.0 Tm#K7 | 24.11.23 49 11.3 63ah/ | 24. 10.26 44 10.5 Hian/
oy krIS—4 FMEAE= | & 522-522 | BRZ 0.0.0.0 | F/00.0.0.0 | KEF ]
J Ed 57.0 .045| fr 56-56 £20000 | =F01.1.1 | 2 1658 9% 4A 3 1088 6% 2A 4 1388 3% 6A
3lo|xz</v RE | THE NZ0.0.0.0 | ==0.0.0.0 | 522 0 #2153k 56 BRD | 522 +4 #31L5h 56 GGG | 518 #) #Alsh 56 QDO
N=v954) Z® 167 F%0.0.00 | =F0.0.0.0 | 2000m =D B 2:01.2 34.9 | 2000m FC £ 2:01.2 359 | 2000m FA & 2:02.3 34,0
=4 ¥77-h (RFHT) [%1] 0.1.1.1 REOLALT [ e MMM 37.2-34.8 534 (2) | MMS 35.4-36.0 354 (3) | MMM 37.3-34.8 255 (1)
[ITRE:: 4705 PO 1£0i80 | £40.0.0.0 | 45+ 0000 | Yhaiqy7” (0.4)  Seskesk | van vt (0.4) BEE | 9330 (0.1) %%k
SUR—RT—F H3[45 T |m20002 | =p40000 |25.01.26 46 9.4 1/NAZ| 24.12.28 33 E Tm#ER9| 24.11.10 45 11.1 6m#ER4| 24.10.12 44 10.9 5m#R3 | 24.09.16 41 9.9 3mb
o P l§7]'l(j KEEN BRZ 0.0.0.0 | F/00.0.0.0 | REEFI FEEF P Il
P e 57.0 .025 £32000.2 [ =F0003 |9 1788 5%13A 13 1638 8ZEITA 13 1488 5% A 8 1688 THB12A 9 128B12® TA A4
4 Lavy b HE | ABE N 0.0.0.1 | ==0.0.0.0 | 494 -4 KFEE 57 (OB | 498 +10 A 56 @B | 488 +6 EHF 56 O | 482 -8 WHBE 56 @@ | 490 -12 FEHEE 55 A2
W—35—2v7) =® 064 %0000 | =F0.0.0.0 | 2000m FA £2:02.5 36.0 | 1800m # B 1:58.2 40.4 | 1600m =B £ 1:35.3 35.7 | 1600m A £ 1:35.1 35.8 | 2000m 2B £ 2:03.4 37.6
)| B 435 (2 AT) [£]] 0006 |£0001 |£20005]|---@- --@[MS 35.3-36.3 254 (6) [ MMM 36.5-38.2 111 (12) [ HWM 34.0-35.1 233 (9) | MMM 34.7-35.6 443 (10) | MMS 35.9-35.9 532 (11)
=i 205E0Z080 | £40.0.0.1 [ $38 0003 | =hve' 0797 4(0.7) ks | MYa974+(4.4) HEE | TN MIR =LA kEE | M0 20 0.7) KkkE | 44 -(1.9) EBE
ERIT) 53 gg# -l I ﬁzo.o.o.o =P30.0.0.0 ?Fst;%g%fs 9.5 /A 2#.%9.22 40 10.7 3Fm7
. — | EHE #0.0.0.0 [ F/10.0.0.0 ]
PAEVAANZ 55.0 .030 £%0001 | =F0002 |9 158810 12N 7 1188 3&1TA
5 TSATFARIVY BE | 8% MNE0.0.0.1 | ==0.0.0.0 [ 406 -10 skEF 53 @AM | 416 %) FEHE 55 ©DO®
(5 oovoTq) =® 097 %0000 | =F0.0.0.0 | 2000m ZA B 2:04.8 355 | 2000m ZB £ 2:06.0 35.2
FHREKS GFOEMED  [(E]| 0002 |F0001 |££0002|--@ ---- SMH 37.6-35.1 323 (6) | SMM 39.4-34.2 333 (6)
b 3:: W20 ) 05020580 | £40.0.0.0 | 28 0000 | by’ =7 (1.0) % | $h/oadzvy” (1.7) sk
O—FA307 43 %‘g c:::: |RmZ000.1 | =pE0.0.0.0 %%2.22 34 11.3 Tm#8
SSa, s N R 0.0.0.0 | F/00.0.0.1
Dv v TH—nR— 5.0 .084 £20000 | =F0000 |13 14a812% 6A 4
6 5 -7 RFAMYaY 25 | EEE— NZ0.0.0.0 | ==0.0.0.0 | 508 %) BEMEE 56 GD
(DubaiDestination) BL | ®® . 119 20000 | =% 0.0.0.0 | 1800m D B 1:53.1 37.8
B77-b(FiE) [5%]1] 0.0.0.1 220001 [ - MMM 37.0-35.0 411 (14)
(B) #HEV-2-2 04050380 | £470.0.0.0 | 4mir 0000 | 7H53-29%2(3.2)  BEiB
PVEEREA #3714 = I ﬁzo.o,o.o =78 0.0.0.0
T S S — *EAE #0.0.0.0 [ F/10.0.0.0
Y7 —IR—Z 56.0 058 £%0000 | =F00.0.0
7 LA VK—5Y T B | iIsE NE0.000 [ ==0000
(FSAT7 VX2 L) FHR .19 EZ 0000 | =37 0.000
B577-h (R FHT) 0.0.0.0 250000 [ -
(#8) GIL-yvy 050520580 | £40.0.0.0
TRV T 5347 Z| A: ;. |m20001 | =p00.00 |2502.01 44 9.5 T/NA3|2411.16 50 9.5 3fakb| 24.10.13 47 10.7 5m&b4| 24.09.08 45 10.0 3fpm2
Eoa1—Kx—sq |EEZ 1232 0.0.0.0 | F/00.0.1.0 | REFF] REF] KEGF wE
55.0 .154 £20.0.0.1 [ =F0003 |4 1288 2& 2N A 3 1688 8% 6A 4 9 BE LA  Ksh |4 THE 4B 6N
5(8lo|Fuve7r—Fz B | mOA®W INZE0.0.0.1 | ==0.0.0.0 | 424 -2 HEE 52 @O | 426 +2 BAE 55 GGO | 424 +4 FEAHE 55 @@ | 420 %) #EAE 55 OO
(N=—Ea1—X) ® 297 F320.00.0 [ =F0.0.0.0 | 2000m A $42:03.9 35.4 | 1800m B £ 1:50.2 35.9 | 2000m #A £ 2:01.2 36.3 [ 2000m A £ 2:03.6 34.3
= BB (BEE [%]] 00.1.3 | £ 0001 |££0013 | - @ ---- MMM 36.6-36.1 255 (1) | MMM 36.4-36.1 434 (5) | MMM 35.0-35.6 533 (6) | MSM 36.8-34.2 434 (3)
J4VAb-YYY" N1E 050320580 | £470.0.0.0 | $28 0000 | N'R' 797 E-(0.4) FEE | -1 (0.2) ExE | W7 0.9 EESE [ 5 M50 0.7) ik
IEI7RA7 H3 [ 45 A R2 0000 | —PH0.0.00 |2502.01 46 9.5 1/NA3|25.01.26 42 9.6 19m9
B804 tHE— BRZ 0.0.0.0 | F/00.0.0.0 | FKpEF REF
57.0 .191 £200.01 | =F0.0.1.0 | 3 1285 7% 3A 7 168812&10A
59| a1l yy—xFvrrrr B | ZEHFA MNZE0.0.1.0 | ==0.0.0.1 | 458 -6 #2K 51 ®©DD | 464 #) FL— 57 ®IH®D
(Sty!eVendome) =W 182 F$0000 | =F0.00.0 | 2000m ZA #2:03.9 36.1|2200m =B £ 2:16.4 35.7
/-4 y77-h (R FHT) [El] 0011 | 20011 |£2001.1 | --@2----[MIM 36.6-36.1 444 (2) [ NSM 35.3-35.7 154 (5)
() 5 /992 14075 | 305020580 | £40.0.0.0 [ #28 0000 | N2 7y7 £ -(0.4) %%%E |tV -(0.9) bisPiv: 3
FSo®TF H3 |45 - A Eﬁcz* 0.0.0.2 | —P30.0.0.0 | 25.02. tis 47 8.6 /@5 2*5.01.26 45 9.4 1/NA2|24.12.28 48 11.4 Tm&R9| 24.11.09 44 11.1 6m&ER3| 24.10.26 34 & 4%ml
= = EHEET £0.0.0.0 | F/10.0.0.0 | | i
TUTRT4+—L 57.0 .180 ££0000 | =F00.1.3 | 3 1388 7% 6A 11 178812% 6A 8  16EEISBISA 4+ |7 1188 4BNA 10 1288 1% 6A BA
10 FULT 25 | dLHEA AN 0.0.1.1 [ ==0.0.0.0 | 456 0 RKILFE 57  @A® | 456 -2 iR— 57 DD | 458 -2 MR 56 @M | 460 -6 FHAH: 56 466 0 BER 56 OOD
(FXF) F® 159 FF0.0.0.0 | =F0.0.0.0 | 2000m ZA #2:04.8 36.3 | 2000m FA B 2:02.6 35.4 | 2000m £D F2:02.3 34,7 | 2000m ¥B E2:02.8 35.4 [ 1800m # B 1:56.8 39.7
LIS (FERT) [£]] 0.0.1.5 |£00.1.1 |£2001.3|-®-@---0SMS 36.8-36.7 235 (2) [MMS 35.3-36.3 155 (1) [ MMM 36.0-35.4 215 (1) | MMH 37.3-34.0 412 (9) | MMM 37.1-37.6 211 (10)
T BE 1405 05020580 | £40.0.0.2 | 158 001 2| 37 yp 9 70-(0.5) #kHEZE | ZhvE 07 9 4(0.8) Sesesk | Uh -1 (0.6) HEZE | N -T4-v(1.8) HER [T Y B0 kEE
TAI—LRY 33|39 B[ - :::: | R20000 | =P300.00 |250202 38 83 1/NA4[24 1100 41 0.7 5&m3
HEFS M7 h-n B 0.0.0.0 | F/10.0.0.1 ﬂang; LI B
2 55.0 .093 470000 | =F0.0.0.0 135§ 2% 6N A 5 1188 9% 5A 4
" ALTF a2 B | REms NZ0.0.01 | ==0000 425 +4 SHE 52 OO0 |42 %) FL— 5 @@
(Numerous) E®E 2014 F£0.0.0.1 | =F0.0.0.0 | 1800m ZA F1:52.3 37.1 | 1600m =B £ 1:35.8 34.6
=4 ¥77-h (RFHT) [%1] 0.0.02 0.0.0.1 | £%0002 ]| - @ ---- MMS 37.4-36.2 333 (7) | MMH 36.6-34.1 433 (6)
HitE = 125 ,Lom%o B0 | £40.0.0.0 [ %28 0000 yEEhyH{(1.9) ek | h-Y a1Yy92(0.8) wkEE
L4540 H3 * 20002 | —P0.0.0.0 | 250200 46 9.9 1m#k4 | 25.01.26 40 9.6 1chm9| 25.01.13 40 F Imb| 24.12.01 34 F A4dm2| 24.11.10 35 11.1 6m#EM4
BALELILITIIL BN EE BRZ 0.0.0.0 | F/10.0.0.0 | FKiEF KR | =3
I 57.0 .032 £%0001 | =F0001 |7 1B EIIA 4 10 16ZE14FI6A 4+ 14 1638 8&FEI6A 9 1288 4&E1TA 10 1038 7&I0A 4+
1012 FHTH T 2 | HTFRE 0000 | ==0002 |42 0 ESE 57 BOG | 426 0 @5 57 @B | 426 +4 EHME 57 G®® | 422 -10 E5 4 56 432 ) B 56 QOO
(FFHRTF ) ZF® 075 F3£0.0.0.0 [ =F0.0.0.0 | 2200m A #2:16.6 36.4 | 2200m B £ 2:16.9 36.2 | 1900m # B 2:05.5 39.7 | 1800m # B 1:57.0 39.9 | 2000m ¥B £ 2:04.3 36.5
E RIS GAisaTAT) [£]] 0005 |£0003 |£20003 |- -®-@-@--[HSS 35.2-36.4 344 (4 [ MSM 35.3-35.7 253 (8) | MSS 30.4-38.8 133 (6) | MMM 37.3-37.1 311 (10) | MMM 37.5-34.8 212 (10)
B pE 05020380 | £40.0.0.2 | 18 0002 | #997-p3v(0.9)  %EBZE |y -(1.4) SesE |V -T-Th @ 1) HkEIB | 33N/ 3.8) Sepkse | 1307 4/2(3.4) Sk
O—FAFAa7 33 ?%3 B - :::: |R20000|=p30000 2%?5,01,19 34710.0 1w/
=, . =3 R 0.0.0.0 [ F/10.0.0.0
SVIIILATY 57.0 084 270001 | ZF000.1 |18 18512% 5A
7(13 PEE A=) B | s NE0.0.0.0 [ ==0.0.0.0 | 502 #) JLA— 57 @BDD
(A= E] BL | & .104 FZ0.0.0.0 [ =F0.00.0 | 2000m B B 2:07.8 36.8
11V M&IS (R ET) [£]] 0001 | 20001 |£20001 |- ®- - -| MSH 37.6-34.0 241 (18)
HEERE () 305020380 | £470.0.0.0 | 48 000 0| #2544 (4.0) SF sk
*XF 43 A4 S r,;ﬁaio.o.m =P90.0.00 2#%2_08 44 11.6 TH#M4
< - s WA— b #0.0.0.0 [ F/10.00.1
T7UTAY—LR |50 o £%0000 | =F0000 |5 1088 4% 5A
8114| n2| H7usatn B | PRERE INZ0.0.0.0 | ==0.0.0.0 | 472 %) EEL 56 ©@
(Dynaformer) ZE® 313 0000 [ =F0.000 |1800m ¥C B 1:50.7 33.8
#HEIH L-yavEEI-L (%] | 0.0.0.1 L2E00.01 [ v SSH 37.9-33.7 444 (5)
(H) #HE-2-2 25 050520580 | £40.0.0.0 | i+ 00 00 | TY7y7 4-9° (0.3) k%%
L1740 43 | : . ::: |®=Z0000 | =pa0000 [250208 38 9.4 1®m=m3
EUAL NARE R 0.0.0.0 [ F/10.0.0.1
- 57.0 .079 £%0000 | =F0.000 [ 12 1658 4&I2A K
815 YA DL T 28 | BEALT N 0.0.0.0 | ==0.0.0.0 | 436 #) dtFE 57 BBG
(RFAT—)LF) £# 050 F0.00.0 [ =F0.00.0 |1800m ZD B 1:51.3 35.1
P S 440857 (B 2 ) ]| 0001 |£0001 |£%0001 | @ ----- MMM 37.1-34.6 133 (7)
F— 305020380 [ £470.0.0.0 | 1:8 0000 | L7 43x(2.1) b
SR 2400mE4 F R (SEHEARS : 2023. 02. 20~2025. 02. 19)
33 BF4a HERS 1%/ 2% 3&F &5 BE ExtE [1:304 BF4 HERS 1% 2% 3F &S BE ExE
6 At k— 9 2 0 0 7 0.222 0.222 34 A LA—RL 4 0 0 1 3 0. 000 0. 000
7 M@ B 12 1 1 4 6 0.083 0.167 3% EHy BE 5 0 0 1 4 0. 000 0. 000
21 M. FhA—nO 7 0 4 0 3 0. 000 0.571 36 GEH P 8 0 0 1 7 0. 000 0.000
23 = % 17 0 2 2 13 0. 000 0.118 49 I RE 1 0 0 0 1 0. 000 0. 000
24 EE 2% 9 0 2 1 6 0. 000 0.222 56 K¥E BN 2 0 0 0 2 0. 000 0. 000
25 @O0 BA 19 0 1 2 16 0. 000 0.053 58 A & 2 0 0 0 2 0. 000 0. 000
29 EHH #mZB 8 0 1 0 7 0. 000 0.125 63 HE B 3 0 0 0 3 0. 000 0. 000
TERZ 2400mAE H FE ALAE (SEEHHARE - 2023. 02. 20~2025. 02. 19) BEATHE HER 3FARE
[[:30v2 fitad HERS 17F 2% 3&F &S BE boES % %% 1 2 3 45 6 71 8
1 *X+ 36 7 2 6 2 0.194 0.250 F (37%M=:E) 23 17 19 27 37 20 7 13
2 ERA 24 25 3 4 2 16 0.120 0280 0 ___Z___
3 IED7HAT 19 3 1 1 14 0.158 0.211 7 PO FESVT/BAL REAMRAL
4 EoSAVT 10 3 1 0 6 0. 300 0. 400 P @ W o%. 35 7M WA (534,544) 1 %
5 TA—TAvnRY + 15 3 1 0 " 0. 200 0.267 0 1:; % ;g g g g{g%b Eggg ggg; g sokok
6 YT LART4—Ib 3 2 0 0 1 0. 667 0.667 ) ook
7 SIWR—RF— R 10 1 2 1 6 0.100 0.300 g ®@%©® BAL:2:281 SBLVAF (335, 245) 3 sk
8 FUHTNANAN 9 1 2 0 6 0.111 033 T
9 N=vsS4q 15 1 1 1 12 0.067 0.133 ® 016
10 SvF—O4vy b 2 1 1 0 0 0. 500 1.000 % ®
N _ FREMT o, YEORKERL. HERY BFEELL, TATEIRERTOLERLBALTTFEL,
2025428228 () 1ER#7IA SR S R3IH RBF [H5F] Hikd 2400m Z-H 5 RN DOMB, EWERXLET,




